



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right) + \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^0 + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right) - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right) + \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{5} =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{3}{5}\right) =$$



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) = \frac{643}{1080}$$

$$\left(-\frac{3}{5}\right) + \frac{1}{6} = \left(-\frac{13}{30}\right)$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{3}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{3}{4}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) = \frac{7}{8}$$

$$\left(-\frac{1}{4}\right) - \frac{1}{6} = \left(-\frac{5}{12}\right)$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{57}{320}\right)$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{4}\right) = \frac{7}{12}$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{6} = \left(-\frac{29}{192}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(\frac{3}{5}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{25}{54}\right)$$

$$\left(\frac{3}{4}\right) + \frac{1}{5} = \frac{19}{20}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} = \left(-\frac{11}{25}\right)$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{24}{25}$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) = \frac{211}{1080}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) = \frac{13}{36}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{5} = \left(-\frac{3}{10}\right)$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{3}{5}\right) = \frac{7}{20}$$